
MANUAL

Part No: BAB-CASM
Version 1

103 Bauer Drive, Oakland, NJ 07436 • 800-648-7229 • Fax: 800-286-0114
www.alpha-tools.com

Alpha® BAB-CASM Carriage 
Assembly for the BAB1590

Instruction Manual



1

TABle of CoNTeNTS

Introduction ......................................................................................................................2

Attaching the BAB1590 to the Carriage Assembly (for original model) ........................... 3

Attaching the BAB1590 to the Carriage Assembly (for modified BAB1590) .................... 4

How to use the Setting Guage - 15°, 30° & 45° Setup ....................................................5

How to use the Setting Guage - 90° Setup .....................................................................6

Alpha®  Carriage Schematics ...........................................................................................7

Alpha®  BAB-CASM Schematics ......................................................................................8

Alpha®  BAB-CASM Parts List .........................................................................................9



2

INTRoDUCTIoN
Thank you for purchasing the Alpha® BAB-CASM for use with the Alpha®   
Beveling Auxiliary Base.  Please read this instruction manual thoroughly to 
ensure safe and correct usage of the BAB-CASM.  Keep this manual in a 
place where operators can access it easily whenever necessary.



3

ATTAChINg The BAB1590 To The CARRIAge ASSeMBly
for original BaB1590 MoDElS (SolD BEforE JUlY 1, 2018)

1. Insert the carriage assembly to 
the guide rail. (See Figure 1)

2. Place the BAB1590 on the 
carriage. (See Figure 2)

3. Touch the BAB1590 to the tabs to 
make parallel. (See Figure 3)

4. Tighten the BAB1590 with the 
screws that are included in the 
BAB1590 box. (See Figure 4)  

5. Tighten the BAB1590 using the 
clamping plate & knob bolt. (See Figure 5)

Figure 1

Figure 2

Figure 3

Figure 4

Figure 5



4

ATTAChINg The BAB1590 To The CARRIAge ASSeMBly
for MoDifiED BaB1590 MoDElS (SolD afTEr JUlY 1, 2018)

1. Insert the carriage assembly to 
the guide rail. (See Figure 6)

2. Place the BAB1590 on the 
carriage. (See Figure 7)

3. Touch the BAB1590 to the tabs to 
make parallel. (See Figure 8)

4. Tighten the BAB1590 with the 
screws that are included in the 
BAB1590 box. (See Figure 9) 

5. Tighten the BAB1590 using the two knob bolts. (See Figure 10)

Figure 6

Figure 7

Figure 8

Figure 9

Figure 10



5

hoW To USe The SeTTINg gAUge - 15°, 30° & 45° SeTUP

1. Insert the setting gauge into 
the slots on both sides of 
the carriage base and use 
the knob bolts to tighten 
down on the desired notch 
location of 15°, 30° or 45°

2. Touch both the setting 
gauges to the edge of 
the material

*Make sure the grinding 
or polishing wheel does 
not touch the material 
at this time.

3. Insert the clamps into the grooves on both sides of the 
guide rail and fully tighten them to 
the material.

NoTe:
• When using the setting gauges for alignment of the Carriage Assembly, it is 

recommended to setup in the middle of the material.

• Remove the setting gauges after securing the guide rail and carriage 
assembly to the material.

• No matter how you use the Alpha® Guide Rail System, there is always a risk 
tof scratching hard surfaces regardless of the materials you are working on. 
We suggest using the Alpha® Surface Protection Tape (BAB0650) to protect 
the surface from potential scratches caused by these applications.

Figure 11

Figure 12

Figure 13



6

hoW To USe The SeTTINg gAUge - 90° SeTUP

1. Insert the setting gauge into the slots 
on both sides of the carriage base 
and use the knob bolts to tighten 
down on the notch of 90°.

2. Touch both of the 
setting gauges to the 
edge of the material.

* Make sure the grinding 
or polishing wheel does 
not touch the material at 
this time.

3. Insert the clamps into the grooves on both sides of the guide rail 
and fully tighten them to the material.

NoTe:
• When using the setting gauges for alignment of the Carriage Assembly it is 

recommended to setup in the middle of the material.
• Remove the setting gauges after securing the guide rail and carriage 

assembly to the material.

• No matter how you use the Alpha® Guide Rail System, there is always a risk 
of scratching hard surfaces regardless of the materials you are working on. 
We suggest using the Alpha® Surface Protection Tape (BAB0650) to protect 
the surface from potential scratches caused by these applications.



7

AlPhA® BAB-CASM CARRIAge BASe SCheMATIC

Alpha® Guide Rail & Clamps
 (not included)



8

AlPhA® BAB-CASM CARRIAge ASSeMBlySCheMATIC



9

AlPhA® BAB-CASM PARTS lIST 

DRAWINg No. PART No. DeSCRIPTIoN QUANTITy

1 133285 Nut (M8) 4

2 133252 Washer (M8) 4

3 500089 Guide Rail Carriage 1

4 803138 Nut (M6) 4

5 133072 Spring Lock Washer (M6) 6

6 133071 Washer (M6) 8

7 133251 Cap Screw (M6*16) 4

8 500090 Carriage Base for BAB1590 1

9 133434 Rail Wheel Axle 4

10 133239 Rail Wheel Assembly 4

11 133051 Retaining Ring-C (8) 4

12 500094 Knob Bolt (M6x25) 2

13 500095 Knob Bolt (M6x15) 2

14 500096 Setting Gauge 2

15 500092 Knob Bolt (M6x30) 1

16 500093 Clamping Plate 1





Copyright © 2018 Alpha Professional Tools. All rights reserved. 

103 Bauer Drive, Oakland, NJ 07436 • 800-648-7229 • Fax: 800-286-0114
www.alpha-tools.com

06/2018


